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Classe de 4¢

Corrigé de I'exercice 1

Développer et réduire les expressions suivantes :

A=3(-8x+7)
A=3x(-8x)+3x7

A=-24x+21

B=(4x+7) x(-4)
B=—-4x4x+4(—4)x7

B=-16z—28

C =10z (32 + 10)
C=-10xx3z+(—10x) x 10

C=-30z>—-100x

D= —6z(—9z+3)
D=—6zx(—9x)+(—6z)x3

D =542 — 18z

Corrigé de I'exercice 2

Développer et réduire les expressions suivantes :

A= (x+5)x(—4x)
A=—-4dxxz+(—4x) x5

A=—42°>—-20z

B=(-32+10) x5
B=5x(-3z)+5x10

B =-152+50

C=(z+5)x(-10z)
C=-10zxx+(—10z) x5

C=-102>-50z

D= (62 —3) x (—6)
D=—-6x(—6z)4+ (—6) x (—3)

D =36x+ 18

E=(8z—5)x (—6)

E=—6x8xz+ (—6) x

E=—-48z+ 30

F =10z +4) x (=2)

F=-2x10x+(-2) x

F=-20x—-38

G=-8(7Tx+8)

(=9)

4

G=-8xT7x+(-8)x8

G =—-56x — 64

H=(-2x—-6) x (—x)

H=—-zx(-2x)+ (—x) x (—6)

H=22>+6z

E=—-6x(—-3x-238)

E=—-6xx(-3z)+ (—6x) x (—=8)

E =182 +48z

F=-3z(-4xz—4)

F=-3zx(—-4z)+ (-3z) x

F=122>+12x

G=-3(—Tz—9)
G=-3x(-Tx)+

G=21x+27

H=(bzx—-2)x2z

H=2xxbx+2xx(-2)

H=102> -4z
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Corrigé de I'exercice 3

Développer et réduire les expressions suivantes :

A=5z(4dz+4)
A=bxx4dx+bx x4

A=202>+202

B=(5z+7) x(-3x)
B=-3xx5zx+(-3z)x7

B=-152°>—-21x

C=4z(-3z—10)
C=4xx(-3z)+4z x (-10)

C=-122%2—-40x

D=06xz—-7)x(-T7x)
D=-Txx6zx+ (=7x) x(=7)

D= —422% + 492

Corrigé de I'exercice 4

Développer et réduire les expressions suivantes :

A= (—-10x —4) x (—3x)
A=-3xx(-10x) + (—-3z) x (—4)

A=3022+12z

B=4z(-2x —6)
B=4x x (—2xz)+ 4z x (—6)

B=-82°—24x

C=(-3z—-8)x(—10x)
C=-10x x (=3x)+ (—10z) x (—8)

C=302>+80zx

D= (2z-10) x (—4x)
D=—-42x2x+ (—4x) x (—10)

D=-822+40z

E=3(—6z —8)

E=3x(—6z)+3x (—8)

E=—-18z—24

F=09z—-5)x4x

F=4zx9x+4x x (-5)

F=362>—-20x

G=9(8z—9)

G=9x8x+9x(-9)
G=T2x—-81

H=8(9z —8)

H=8x9z+8x (—8)

H=72z—64

E=5x(—z+4)

E=5zx(—z)+bx x4

E=-522+20x

F=(-2zx+8) x7
F=Tx(-22)+7x8

F=—-14z+ 56

G=Q2z+2)xz
G=xx2x+xx2

G=22>+2x

H=(3z+10) x 3
H=3x3z+3x10

H=9x+ 30
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Corrigé de I'exercice 5

Développer et réduire les expressions suivantes :

A=(-b5z+2)x3x
A=3zx(=bx)+3xzx2

A=—-152>+62

B=8z—-2)x(-3x)
B=-3zx8x+(—3x)x(-2)

B=-242°+6x

C=10(-5z+9)
C=10x (=5z) +10 x 9

C =-50z+90

D=8(—z—9)
D =8x (—z)+8x(-9)

D=-8x—-72

E=(z—T)x6
E=6x2z+6x(=7)

E=06x—42

F=—4(-22+5)
F=—4x(—2z)+ (—4) x5

F=8xz—-20

G=-10z(—x —6)

G=-10x x (—z)+ (—10x) x (—6)

G=102>+60z

H=(x+4+6)xT7x
H=7xxx+T7xx6

H=72>+422
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